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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) attributed 2) converted 3) debilitated 4) transferred

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) extended 2) elicited 3) evicted 4) evacuated

3- Wehave a ---emnmea- clientele in our language program, with students from Asia, Europe
and South America.
1) complex 2) diverse 3) symmetrical 4) haphazard

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) rivalry 2) advocacy 3) inclination 4) justification

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) unintelligible 2) insensitive 3) unforeseeable 4) incontrovertible

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) compliment 2) hindrance 3) thrill 4) pretension

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) provenance 2) rationalization 3) breach 4) caprice

8- Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) legality 2) verdict 3) charge 4) fate

9-  The trial collapsed when it became clear that the main witness for the prosecution was
not ---=------ :
1) credible 2) singular 3) subjective 4) conjectural

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that

members of minority groups are bad people.
1) overlook 2) downplay 3) belie 4) perpetuate
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) ---------- no
tailpipe emissions. Similar to electricity, hydrogen is an energy carrier that can be
produced from various feedstocks. These feedstocks and production methods should
be considered when (12) -—-------- .

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell
Vehicles: Well-to-Wheels Energy and Emission Impacts, analyzed greenhouse gas
(GHG) (13) ---------- 10 of the most common hydrogen production and distribution
pathways. ANL found that gaseous hydrogen produces (14) ---------- GHGs than liquid
hydrogen in most cases. ANL also investigated hydrogen’s effects on petroleum use
and found that using hydrogen as a fuel (15) ---------- petroleum use by nearly %100
regardless of fuel production pathway.

11- 1) produce 2) that produces 3) to produce 4) producing
12- 1) to evaluate hydrogen emissions 2) evaluating hydrogen emissions

3) for hydrogen emissions to evaluate 4) hydrogen emissions evaluated
13- 1) emussions for 2) 1t 1s emitted as 3) 1s emitted for 4) to be emitted
14- 1) less of 2) as little 3) fewer 4) fewer of
15- 1) reduction 2) reduced 3) that reduces 4) to reduce

PART C: Reading Comprehension
Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

R. A. Fischer was born in London and educated at Cambridge. He studied physics and
biology, but plagued by terrible eyesight, he decided that mathematics was the way he
could serve the biological sciences best. He was such a brilliant mathematician that he
generally just read a problem and produced the right answer, much to the displeasure
of his teachers. After graduating, he worked for several years as a school teacher, a job
he disliked but paid for his daily needs. While teaching, he published a paper that
unified the ideas of Charles Darwin and Gregor Mendel, showing how genetic
variation in populations produced the basis for natural selection.

He began working at the Rothamsted Experiment Station in 1920, performing
statistical analysis of agricultural experiments. This is where and when his
contributions as a statistician took off. He developed the basics of experimental
design, famously saying that “To consult the statistician afier an experiment is finished
is often merely to ask him to conduct a post mortem examination. He can perhaps say
what the experiment died of.”
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19-

He developed many of the concepts still used in today’s statistical analyses. He
invented analysis of variance, the tool that lets multiple factors be tested in a single
experiment. He also set the standard probability of error at 0.05, still considered the
level of certainty needed to accept the results of an experiment. He wrote several
textbooks that became the foundation of modern statistical theory and practice.
Because of his understanding of the variations in populations, he is acknowledged as
one of the pioneers of population genetics.

Which of the following statements is true about Fischer?

1) He had no interest in biology.

2) He was educated at the University of London.

3) He was born in Cambridge.

4) His brightness in mathematics tended to displease his teachers.

The word ““plagued” in paragraph 1 is similar in meaning to ---------- d

1) recovered 2) troubled 3) oriented 4) isolated

Which of the following statements is true about Fischer?

1) He showed how genetic variation in populations produced the basis for natural
selection.

2) He liked his job as a school teacher.

3) He met Charles Darwin at the Rothamsted Experiment Station.

4) In 1920 he performed statistical analysis of genetic experiments.

What can be concluded from Fischer’s famous quotation in paragraph 2?

1) We always have to consult a statistician before we conduct an experiment.

2) We must always consult a statistician after we conduct an experiment.

3) There is no need to consult a statistician while doing an experimental research.

4) The best a statistician can offer is to conduct a post mortem examination.

All of the following statements are true about Fischer EXCEPT that he ---------- ?

1) invented a tool that lets multiple factors be tested in a single experiment

2) set the standard probability of error at 0.05

3) thought mathematics was the best way through which he could serve physics

4) is acknowledged as one of the pioneers of population genetics

PASSAGE 2:

The first use of ANCOVA is the most common. In an experimental setting, ANCOVA
increases the power of an F test for a main effect or interaction by removing
predictable variance associated with covariates from the error term. That is, CVs
(covariates) are used to assess the “noise” where “noise” is undesirable variance in the
dependent variable (DV) (e.g., individual differences) that is estimated by scores on
CVs (e.g., pretests).

An experimental ANCOVA strategy was taken by Baranowski et al. (2011). One
hundred thirty-three 10- to 12-year-old children participated in a randomized control
trial where two-thirds of the sample was assigned to the treatment group and one-third
to the control group. Both groups were assessed for the intake of fruit, vegetables, and
water as well as minutes of moderate to vigorous physical activity and weight (the
DVs) prior to the start of the experiment, after the first treatment, after the second
treatment, and 2 months after the conclusion of the study. Pretreatment measures and
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certain demographic characteristics were used as the covariates in a separate
ANCOVA for each DV. The group assigned to treatment played “Escape from Diab”
(Diab) and then “Nanoswarm: Invasion from Inner Space” (Nano) video games on
children’s diet, physical activity, and adiposity in sequence. The control group played
diet and physical activity knowledge-based games on popular Websites for equivalent
time. Using repeated measures ANCOV As, the children who played the video games
increased fruit and vegetable consumption but did not change water intake, physical
activity, or weight.

The second use of ANCOVA commonly occurs in nonexperimental situations
when subjects cannot be randomly assigned to treatments. ANCOVA is used as a
statistical matching procedure, although interpretation is fraught with difficulty.
ANCOVA is used primarily to adjust group means to what they would be if all
subjects scored identically on the CV(s). Differences between subjects on CVs are
removed so that, presumably, the only differences that remain are related to the effects
of the grouping IV(s). (Differences could also, of course, be due to attributes that have
not been used as CVs.) This second application of ANCOVA is primarily for
descriptive model building: the CV enhances prediction of the DV, but there is no
implication of causality.

Which of the following statements is true, according to the passage?

1) The second use of ANCOVA commonly occurs in experimental situations.

2) Posttests often constitute covariates in an experimental design.

3) Undesirable variance in the independent variable is described as “noise”.

4) In an experimental setting, ANCOVA increases the power of an F test for a main
effect.

Which of the following statements is true about the second paragraph?

1) It reports an experimental study without a delayed posttest.

2) It contradicts what was mentioned in the first paragraph.

3) It provides an example for the argument advanced in the first paragraph.

4) Tt reports an experiment with an equal number of participants between the control
and the treatment groups.

Which of the following statements is true about the findings of the experiment reported

in paragraph 2?

1) The children in the control group increased fruit and vegetable consumption.

2) The children who played the video games increased fruit and vegetable
consumption,

3) The children who played the video games had an increase in water intake, physical
activity, and weight.

4) The children in the treatment group played diet and physical activity knowledge-
based games on popular Websites.

The word “fraught” in paragraph 3 is similar in meaning to ---------- g

1) filled 2) assoclated 3) crowded 4) confronted

Where does the following sentence best fit into the passage?

If the research question to be answered involves causality, ANCOVA is no substitute for

running an experiment.

1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) Beginning of paragraph 2
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PASSAGE 3:

The goal of canonical correlation is to analyze the relationships between two sets of
variables. It may be useful to think of one set of variables as independent variables
(IVs) and the other set as dependent variables (DVs), or it may not. In any event,
canonical correlation provides a statistical analysis for research in which each subject
1s measured on two sets of variables and the researcher wants to know if and how the
two sets relate to each other.

Suppose, for instance, a researcher is interested in the relationship between a set of
variables measuring medical compliance (willingness to buy drugs, to make return
office visits, to use drugs, to restrict activity) and a set of demographic characteristics
(educational level, social background, income, medical insurance). Canonical analysis
might reveal that there are two statistically significant ways that the two sets of
variables are related. The first way 1s between income and insurance on the
demographic side and purchase of drugs and willingness to make return office visits
on the medical-compliance side. Together, these results indicate a relationship between
compliance and demography based on the ability to pay for medical services. The
second way is between willingness to use drugs and restrict activity on the compliance
side and social background and educational level on the demographic side, interpreted,
perhaps, as a tendency to accede to authority (or not).

The easiest way to understand canonical correlation i1s to think of multiple
regression. In regression, there are several variables on one side of the equation and a
single variable on the other side. The several variables are combined into a predicted
value to produce, across all subjects, the highest correlation between the predicted
value and the single variable. The combination of variables can be thought of as a
dimension among the many variables that predicts the single variable. In canonical
correlation, the same thing happens except that there are several variables on both
sides of the equation. Sets of variables on each side are combined to produce, for each
side, a predicted value that has the highest correlation with the predicted value on the
other side.

The main goal of the first paragraph is to ---------- 2

1) offer a general description of canonical correlation

2) make a distinction between dependent and independent variables

3) tell the reader how and why two sets of variables may relate to each other

4) argue why each subject in a correlational study needs to be measured on two sets of
variables

Which variables on the medical-compliance side show the ability to pay for medical

services?

1) Purchase of drugs and insurance

2) Income and insurance

3) Purchase of drugs and willingness to make return office visits

4) Willingness to make return office visits and income

The word “accede’” in paragraph 2 is similar in meaning to ---------- .

1) adjust 2) object 3) apologize 4) consent
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Which of the following statements is true?

1) In multiple regression, there is one single variable on one side of the equation and
one single variable on the other.

2) In canonical correlation there are several variables on both sides of the equation.

3) In regression there are several variables on both sides of the equation.

4) In canonical correlation, there are several variables on one side of the equation and
a single variable on the other side.

Where does the following sentence best fit into the passage?

The combination of variables on each side can be thought of as a dimension that relates

the variables on one side to the variables on the other.

1) End of paragraph 1 2) End of paragraph 2

3) End of paragraph 3 4) Beginning of paragraph 3
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